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1. [6 marks] Find A~! and use it to solve the system.
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2. [4 marks] Solve the following system using the LU method.
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3. [4 marks] A =

Find a basis for:

a) the row space of A
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b) the column space of A
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¢) the null space of A
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4. [6 marks] Find the standard matrix for the following transformation T
from R? to R2. T first reflects a vector in the z-axis, then rotates it by
60° counter-clockwise, then reflects it in the line y = z. Simplify your answer.

()= ) o __k;_ (1)

o |

el

(-

: S (S

S )9 |9 =G0
A P
- PZ:. "g

o

—_—

o =
T

-
2

o
1

(4

=
™~

: )
“ o — | |
B
[
)
&

-
1\
1




5. [5 marks| Let A = [ ; T]
a) Find A3
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b) Find a condition on a and b so that A? = 2A.
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